o A 5.0ptBD
5.0ptCE ©]1, /AOE = 98°
o, /DPB 9] 37]%?

ne

@® 45° @ 46° @ 47° @ 48° B®)49°

B ~

(CBE = a, /ABC = b 2tal S},
a+b=/ABE = %AAOE =49°

/CBE = /BCD °|B&
ABCP °|A /BPD =a+ b =49°




N\
T}-S 1204 5.0ptAD = 5.0ptCE o], A
/AOB = 128° & W, /DFB 9] Z7]=7 D

Q

AN
<./ B

E

@ 52° @ 56° ® 60° @64° ® 68°

B )

/ACD =a, /DCB = b &1l 5},
a+b=/ACB = %AAOB =064°

/ACD = /CDE = q °]BEZ2
ACDF oA /DFB=a+ b= 64°




o2 293 Zo] A& AB ¢ CD & #3222 7hyr, H R 2 0D
N R R
9] 9] E\O]E}. 5.0ptBD 9] OQ = RQ 7 =2 A Q &
VY
Zro ™ 5.0ptAP = 2(cm) € W, 5.0ptAS o] Zo|S F5toiat, (&,

PQ. SQ &= € 0 ] @ojt})

A QollAl CDoll W& 4=42] & Mol & o,
AB//QMo|B &
0QM = /BOQ(3Z) = LAOP(HEA] 2}
/PQM = /RQM = x 2t1L 5} /PQS = 2x, /POS = 4x ,
(AOS =4x—x=3x
/N VA

/AOP : /AOS = 5.0ptAP : 5.0ptAS

VI
x:3x=2:5.0ptAS

N\

. 5.0ptAS = 6(cm)

filo




oh2 2ol A 9 Hke) gk po
HA PT ¢ ¢4 PB 7} o
x 9] g Fafoiat.

>
> =E: 2

B

AQx QB =CQxQT

AQx4=6x2 L AQ=3

PT” =PA xPB A (3V2)2 = x(x +7)
X2+ 7x-18=0

(x=2)(x+9)=0 Lox=2(0 x>0)




oS 1o A & AB 9] Zolrt Yo
o o, ZAPB ¢] A7]& F5tofet,

i
o

\VARR 4
02
i

60 °

W =

B

% AxZ%X12O°:60°

~ 1
5.0ptAB7} ¥52 §O]EE FA1Zr2 360 ° x




6. o2 1dolA M P = BAE ABCD & &3¢9 2 AD 91l =
o] o]o] Holtt. o] uff, PB : PA + PC 9] H|Z F5}ojet.

P

\VARR 4
0
it

1:v2

4AMZFE ABCD 7F o] iS22 PB = PQ & TS
PD ¢ &4 91ol & Q & F=th

P

A D
’ Q
0.
/,’ R
B C
(BPD = 90° o] 2.&
BQ = V2 PB 0|1, /PBQ = /Q = 45°
BQ 749 O ¢t vht= HS R 2 ot
/PBA = 45° - /PBD = /DBQ °|2&
o 7\ —_ -
5.0ptAP = 5.0ptDR =, PA =DR--- O
o _ ~ ~~ s
T, _PC = BR (v 5.0ptDC = 5.0ptBC, 5.0ptPD =
5.0ptRC - -- ©)
DR=QR--- ©
Q, ©, ©°ll 95t

PA+PC=DR+BR=QR+BR=BQ= V2PB
. PB:PA+PC=1:+V2




o4 AB = ¥ 0 9] ] E0]1 /BAC ¢] o]5EA 3} BC 7}

[
H =

>
> =l 3410

B ~

APQB o ABQA (- AA B2)
PQ :BQ=BQ :AQ

BQ =PQxAQ=>5x13 =65
- BQ = V65

- BP = 25+ 65 = V90 = 3V10




